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Function Composition (§4.1):

Composition:
Currency conversion example

Function composition:
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Spoken as: 

f composed with g

f circle g

"f of g" (or "f of g of x") - not listed in the book

NOT MULTIPLICATION
Example:  Given:
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We can compose f with g, like so:
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We can also compose g with f, like so:
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Why?

We'll use this to describe inverse functions in a short bit

Also, this is a nice short-cut – if we need to calculate f(g(x)) a lot, it'll be quicker to first calculate the composite function, then use that to jump straight to the answer

domain of a composed function:
Make sure to cover both the evaluation aspects (find a formula for 
[image: image5.wmf](

)

(

)

x

g

f

o

, and find 
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, etc) and the ‘how to figure out the domain’

Domain: Start with all real numbers,

Figure out what g can’t be, and remove them
Then figure out what f can’t be.  Figure out what values of x will cause g to produce those values forbidden by f, then remove those x values as well.

Ex: 
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g(x) forbids x from being -1, so all real numbers except -1.

f(x) forbids 2, so what value(s) of g(x) produce 3?
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, solve for x (x = -3).  So plugging -3 into g will produce +3, which isn’t allowed by f, thus -3 isn’t allowed, either.

So domain = all real numbers except -1 and -3

de-composing a function:

The basic idea is to chose whatever’s inside the parens/absolute value/radical as one function, and the exponent/etc as the other
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